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An angle which is greater than 180" but less than 360 is known as s Rk
Chosen Option 12
“* K- aright angle ez

¢ areflex angle
X : an altemmate angle
7+ an adjacent angle

"% The equation of the plane passing thruunh the pmnt (1, -1, 2) and parallel to the Cugstan 10833493140
Chosan Cphion : 2
plane 3x + 4y -5z =015 P T
AnE -
X.3x+4y-5z2-11=0
W2 3x + 4y -5z +11 =0
HroR Y5zl =0
Kil3x+4ySz-1=0
“* In a circle of radius | 7em, two parallel chords are drawn on opposite side of a Cuastion D 833423136
Chegen Qzlion 12
diameter. The distance between the chords is 23em. If the length of one chord is o it
I 6cm, then the length of the other chord is
it K w23cm
A1 5em
X5 34cm
#+ 30cm
**  Three vertices of AABC are A(L. 4). B(-2, 2) and C(3, 2).Then the area of Suestion 13 833403138
ol fugr Chasen Ogtion |4
AABC 15 ' Marss 1 2.4
s e 7 sty
# : 13 sq. units
& = 0 sq. units
<+ 5 sq. units
** The equation of the normal to the Lln.h: £ & \ =2x which is parallel to the Cruegiion 1D ! 833483143
s : i Chozan Cghon 13
straight hne x + 2v = 3 15 given by Wlarks 1200
R R R L
Xzdx-y+1=0
Wf's X+ 2}-’ -1=0
X X4 Dvid ] =0
9% The tangents of two points A and B on the circle with centre © intersectat a point Cyuestion 10 | £11403 3%
F. If, in quadrilateral PAOB, SAQB: ZAPB=35:1, thea the measure of ZAPB Ehesen Gplien -2
i5 given by Blarks 1200
ANz 'K; - _]_::.C
R
K 15

X+ 607
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If tan A =1 and tan B = /3, then cos(A+B) 1s equal to
1-43
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15 equal to

The number of common tangents that can be drawn to two given circles is at the
most

X one

“ : two

X 5 three

X« four

The distance between two parallel lines 5x — 12y +2=0and 5x — 12y - 3=0is
given by

&+ 1/13

v :5/13

X35/14

X4 1/17

Ifa, b, care in A.P., as well as in G.P.. then
vwig=b=c

XKig=b=zc

XKiagb=c

Kiazb#c

A straight highway leads to the foot of a 50m tall tower. From the top of the
tower the angle of depression of the two cars on the highway are 30° and 60°
Then the distance between the two cars is

X J3/10m
X:100/+4/3m
“* 10043 m
X4 1043m

Guestion D 833403133
Crosen Cplion | 1
Marks | 200

Cuesdion 10 - BA3493141
Cresen Cption | 2
Klarics - 0.00

Cuession 10 - BIMI3137
Croden Oplion 4
Markcs - D.00

Cupshon 1D E3M3142
Crasen Ophon : 2
Karks 200

Cusastion 1D | 23103125
Chasan Cpton 1
Marks | 200

Criestion 1D -B33403132
Chosen Cplon - 2
Marks | 0,00




113 | . 3 Duestion |0 | 33490129
If tan(A-B)=— and mn{A+H}:Jﬁ. then the values of A and B are Brcase i 4
V3 Maris 200

respectively

B 307 30°

X2 30°,60°
K 40°,20°
vt 45°15°
““ " The sum of the 24 terms of the series J2 +f8+ 18 +432 +...is My deesiiicd
L o 1{]0\'(; , Marks 0,00
X2 50042
X3 20042
X+ 10042
8% AR is a straight line and O is a point on the line AB. If one draws a line OC not 4 S .
coinciding with OA or OB. then the ZAOC and ZBOC are Maris 000
& supplementary
x> equal
X complementary
x + together equal to 130°
- 0 1 ] 0 ; Cueslicn 1D 833453130
br s Chosan Option ; 2
It A :[i 0 ] and B = [ﬂ Fl] are matrices, then AB + BA 1s Marks 1000
% X aunit matrix
» = an invertible matrix
« * a null matnx
X+ a diagonal matrix
i | 5 Dussson 10 330127
1 L e Faf P 1 Chesen Opion ;1
The logarithm of <7 to the base 2v21s s
Fi =16
3
8
o e
3
-8
X3 —
3
~14
<4 :
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(x)log =z (x)+... up to 7 terms = 35, then the value of x 15
W o

Yo 1:"1
&-75
X225
vid
w25
1 e
If A=|5 | X| isa singular matrix, then the value of x 15
R !
X1l
v 9
X: 11
x:.9

Two girls and four boys are to be seated in a row in such a way that the girls do
not sit together. In how many different ways can it be done?

X 240
X : 360
« - 480
X720

0.1

Ang

0.3

[et 7 denote the set of all integers. If a relation R is defined on Z as follows:
(x.v) & Rif and only if x is multiple ot v. then R is
reflexive, transitive but not

> :
SYMMmetric

x neither reflexive nor transitive but

symmetric

x - reflexive, symmetric but not transitive
~ symmelric, transitive but not
reflexive

Find the odd figure in the problem

® W A

A B C D

e L
Ny o W

Csestion 10 - 813483128
Crosen Option 3
Warks - 2.00

Cusastion 10 BIMININ
Crosan Oplion 22
Klarici ' 200

Cusstion 10 BI3483144
Chomen Option - 3
Pgrics | 2.00

Cappstion 1D BI493184
Chosen Oplion -2
taris 00D

Cuestion 1D - 833403148
Croaen Opbon | 2
Marks | 000
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Geodesic domes are strong and rigid due to its structural elements.
Z * Trapezoidal
X : Pentagonal
« @ Triangular
X + Square
']The substitute for River sand in building construction is
/% . Brick sand
, X z Pit sand
X 3 Seasand
o ¢ Manufactured sand

Which number replaces the question mark?

s|{e|[o]lw][7
X 29
K27
o' 31
K432

Which of the following compound propositions are tautologies?
B (PA-P)>—P
@ (Q—=>P)AQ
(@) (Q—=>P)A(-PAQ) .
(av) P-o(PvQ)
(i) and (iv) but not (ii) and (i)
X 2 (1) and (iv) but not (1) and (111)
# s+ (1) and (i1) but not (111) and (1v)
 + (1) and (1) but not (1) and (1v)

Which of these is nota struerural pan ofabuilding?

# * Roof Framing structure
X = Foundation

& 5 Column & Beam

« : Doors and windows

The internal angle formed by the edges of a cube in isometric projection is?
& 90 degree
# 2 60 degree

o * 120 degree
2% ¢+ 45 degree

Cuastion 10 8XM4903176
Crosen Dpon :1
Marks :0.00

Cuastion ID - B3IM316%
Chosan Opbon | 2
Marks 10.00

Cuestion ID | 833433159
Chosan Oplion . 2
Marks 0D

Cusstion 10 - 833493183
Chosen Option |1
biaris - 2,000

Cusdon 1D 8313480111
Chcaen Oplion 4
Wk (200

Cuesfion 1D | §348375
Chosen Cpbon -3
Rlarks - 2.0
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Ans

A rectangular park ade has two pathways of equal width running in the
longitdinal and transve crossing cach other at right angles in the middle of the
park. The rest of the park wm. If the area of the lawn is 2109 sq.m, then what is the
width of the pathway?

X 45m

X : 6m
XK32.5m

v 3m

Cncssn Oplign 4

K/ w29

i© I\/ . X

» B
KA
x:C -
viD
2018 Pﬁtzkerprizemawnrdedmwhimm 9 Cuestion 10 823433162
Chosen Oplon ' 4
¥ + Tadao Ando Marks [ 0.00
o B.V.Doshi
# » Philip Johnson
&+ I M Pei
The predominant material used in the construction of Eiffel tower is? Guestion ID - 813178
Cresen Cplion ©1
# . Stainless steel v e
v . Wrought Iron
& 5 Cast lron
2 ¢ Aluminiom
One of the following answer figure is hidden in the given problem figure, in the same 2 ni:ﬁw o E::mmu
size and direction. Select which one is correct? m 38
\ o
{ N
‘ : \J O
A B C D
X' B
i A
X3C
AuD
Adobe is associated with construction. Cuestion 1D | 8334877
Chosen Oolian "4
& Masonry Wlaris < 2.00
& & Wooden
2 3 Metal
« - Earthem

- .




9.5 Paris Summit discusses which of the following issues?

Any « . Climate change
X 2 Built Heritage
7 3 Natural conservation

2« Migration
a1 Answer the correct TOP view for the given 3D object:
? I
b
A B
Ang K C
v A
~:+B
XiD
T Which picture cube does the unt‘uldzd'shape make?
Ans
Q.18

Ang

# ' Kolkata

" . Ahmedabad
#5 % Chandigarh
> 4 Kanchipuram

Which Indian ity ranks in UNESCO World Heritage list 20177

Cuestion 10 BIMENT4
Chosen Oplian 4
Marks ;0,00

Cuestion iD - BIM83153
Crosen Oplan -2
Mlarks  2.00

Cagestian B0 8334093160
Chosan Cpbion @1
Maricy - 0.00

Cwashon 10 BY3453165
Chosan Cplion -4
Warks. 00




1 swhich of the followingbest illustrates a colonnade? Qusston ID 833483173

barks 0.0

A B C D
N
vk B
KiD
% Which of the following composition best fits Hierarchy? Cuestor iL :lﬂ-ﬂlm
4 hares - 2.00
| eoee e ® A g
e o o0 00 eoon -!.g-
o000 L M @ * L ]
A B C D
Ans * - A
1
2B
XL C
02 Haveli's are traditional buildings found in Cuestion 10 - §3493156
ans 3¢ Tamil Nadu Chasan Ogtion 2
: Marks £ 2.00
w - Rajasthan
# 3 Kamnataka
7 < AndhraPradesh
G#  Which of the following countries is below sea level Sutston 1D HIMSITD
ans o : CostaRica Crsen Dtkoa |2
e BLU0S
2 Maldives
o . Netherlands
X+ Spain

Cueston 13 133485182
Craass Opboa -1
hisres | 100

98 rhoose logical sequence which replaces the question mark.
g il

D

p i e
b Ol -




20 : : - - Ouesson 1D I3
Answer the correct FRONT view for the given top view: ; : 2
My 100
-
PN ﬂ
11\
"x_,_v,f"'
A B C D
- X1 A
L O
*+B
Q.25 = 2 H . st 1D BI04
Answer the correct TOP view for the given 3D object: e
Ry 2.00
’ |
| I I
A B & D
Ang K D
X:B
X A
v-C
0%  when was the Earth Day 2018 celebrated? s Cueston 1D FIME3184
- ] Chosen Opben -3
Ay e 228d April, 2018 e S
20 2 23 February, 2018
X & 25~ March, 2018
25 412 January, 2018
- %" Answer the correct 3D view for the given elevation: Er:;m: :”‘“““
' Miarks | 2,00
i il i o
-~ e - .,
j,.r*.- S K
7~ J J X
i P -~
L L “‘"':I;J; (_,_:“‘""- o~
A B c D
Ans o D
v: B
Xy (C
Ko A




Which of the following best represents wood? T T EIHI180
Cresen Cotcn 4
11 s 109
| e
Gt (]
; =t
SO0
[ [ |
REEN! i W CaC o1
A C D
xB
2D
X3 A
v :C
Which letter replaces the question mark? ueston ' E3M81161

Cresen Opicr -1

000,00 e
(EEXC)
00000,
0,0,0,00%
00000,

v : M
< K
X«N
% Ganesh is olderthan her cousin Malavika. Malavika's brother Bharat is older than Chgsten D S1MINS
Ganesh. When Malavika and Bharat are visiting with Ganesh, all three like to play a Choma 04
game of Monopoly, Malavika wins more often than Ganesh does. o

fnx X Of the three, Ganesh is the oldest.
X @ When he plays Monopoly with Malavikaand Ganesh, Bharat often loses.
« * Of the three, Malavika is the youngest.

» + Ganesh hates 1o lose at Monopoly.

¥ 90000 00000 0e00e 0000 Sonck e v
OO0 000 ol 1 ol ® .00 Marks *2.00
000 000 00000 000 O
2000 Sl 1 | e e Oe00e
o o OO0 00000 00000
A B & D
Ans

o1 v U s (O

4

Natg For thes gueston, discrepancy s foung in questionfarswer. FUil Marks ig bieng awarded 1o al candudales
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Ans
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Which plantationbelps in preventing erosion and protecting the coastal shoreline 7
« ' Mangrove
# : Mango
2% 3 Palm
X ¢ Cocommt

Franco Indian architecture is found in which Indian city?
' o' Pondicherry
2 1 New Delhi
» 3 Ahmednagar
X ¢ Kolkata
The Indian state which is called as “Bamboo Queen” is
X - West Bengal
# : Assam
X 5 Kerala
o ¢ Mizoram "
Jodhpuris referredas
XX White city
X 2 Golden city
7 3. Pinkcity
o - Blue city

On weekends, Mr. Sanjay spends many hours working in his vegetable and flower

gardens. Mrs. Sanjay spends her free time reading and listening to classical music.

Both Mr. Sanjayand  Mrs. Sanjay like to cook.
« * Mr. Sanjay enjoysplanting and growing vegetables.
X 2 Mrs. Sanjay cooks the vegetables that Mr. Sanjay grows.
# 5 Mr. Sanjay does not like classical music.
» : Mrs. Sanjay enjoys reading nineteenth century novels.

and World?

Which of the following diagrams indicates the best relation between Paris, France, laly

CapsSan 1D E3M0516T
Chosen Option 1
biarics 0 2.00

Oueston 1D - FI34INTY
Crosen Opon 1
Migrics | 200

Caepgion 1D 813483188
Cnosen Opion -2
Marics - 0LDO

Cuestion D - EIMINTO
Chesen Dpbion -1
Maricy : 0UOD

Cusstion B0 - 83493157
Chegen Opbion -3
Marics 000

Croeston |3 83390102

Crgses Ceeon 3

Sk 200



*% Answer the correct 3D view for the given elevarion:

— | X Bt ol L fi f
A B C D

< D

XA

X €

X' B

Which composition best fits variety?

HOE AG0A HOHE
OHO® 0.0 6AO
HONE AGLA HOHE

A B C D

A

XA X X
O

" Find the odd figure in the problem

Ang

N

A B C D
< D
X B
X:(C
KeA

Qe D S0
o Optiens 1
L=

Cumteaor 10 FI4B3147
Chgsen Doton ¥
Wtarks | 2.00

Cuestion 1D 833483148
Chosan Dptian | 1
Marics - 2.0



NATA-2018: Answer Key

Mathematics General Aptitude
(Q.1-20) (Q. 21 -60)

Question Answer  Question Answer  Question Answer
No Key No Key No Key
1 B 1 A 21 B
2 B 2 A 22 C
3 D 3 C 23 A
4 D 4 D 24 C
5 C 5 C 25 D
6 B 6 A 26 A
7 A 7 D 27 B
8 D 8 C 28 D
9 B 9 D 29 B
10 B 10 D 30 C
11 A 11 2 31 -
12 C 12 B 32 A
13 D 13 B 33 A
14 A 14 D 34 4
15 A 15 A 35 4
16 C 16 B 36 A
17 A 17 C 37 B
18 C 18 B 38 A
19 B 19 C 39 C

20 C 20 B 40 A



